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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of only problems

Accuracy:

3 (¢]
attempted

Level A

(Minuends and Subtrahends to 5; 20 Differences)
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4 4 5 4 2
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
il P
Level B, Test 2
(Minuends to 10; Subtrahends to 9; 20 Differences)
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6—4= 7-7= 10— 4= 4-0= 9-7=




= /-0l =6-8 =€-9 =1-¢ =1-¢
=7-9 =€/ =0-¢6 = 1 -0l =€-¢
8 - Z- 9 - | - 9~

8 S 9 4 6

9 - Z - G - = 0-

8 ol L 9 4

(seoualalig 0z 6 Ol SpusyLILaNS ‘0| O} SPUSNUIW)

€ Is3] ‘d I9A3]

pajdwayo swajgoid asoy} Jo jno
% oc/

:9100§

:ADDINDDY

‘pojdway #

:paddols aswi]

‘paLInIS auwI|

:a10Q




Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those problems

Accuracy:

3 (¢]
attempted

Level B, Test 4

(Minuends to 10; Subtrahends to 9; 20 Differences)

9 / 10 ] 9

9 ] _ 9 ] 5

8 8 9 ] 10

-7 -6 -6 -0 -7

7 4= 6 5= 9_3= 7-5= 8 4=
10-5= 6—-2= 5-0= 8-2= 9Q-2=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/20 To
out of those problems attempted

Level C, Test 1

(Minuends to 18; Subtrahends to 9; 20 Differences)

11 13 9 / 12
-9 -6 -3 =5 -8
8 12 4 10 17

4 ~9 2 8 -8
14-6= 15-8= 16 -8 = 11=-7= 6—-1=
2-0= 5-3= 10-3= 13-4 = 14-7=
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
il P
Level C, Test 3
(Minuends to 18; Subtrahends to 9; 20 Differences)

10 11 17 9 12
-5 - 2 -9 ) - 6
8 S 9 8 11
-8 ~ — 4 -7 ~ 4
/—2= 10-9 = 9-0= 4-3= 3-2=

11-3= 8-5= 9-7= 10-6= 16 -7 =
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score: Accuracy:

/20 To
out of those problems attempted

Level C, Test 5

(Minuends to 18; Subtrahends to 9; 20 Differences)

16 13 11 4 6
-9 -5 Sy = -2

7 6 11 12 10

oy _y -9 -5 ~ 7
9_2= 14-7= 15-9 = 9_1= 14-9 =
12-3= 6-0= 5-5= 8- 1= 8-0=
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
123 | s
Level D, Test 1
(Minuends to 18; Subtrahends to 9; 25 Differences)

9 8 12 13 10

-2 -7 -9 - 8 ~ 7
5-0= b6—-6= 9-8= 15-6= 17-8=
/ 6 4 13 14

-6 — 4 — 1 -7 ~ 6
11-5= 8-5= /—-3= 9-5= 12-3=
2 3 ? 15 8

~ ~ -3 -7 — 4
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score: Accuracy:

/25 To
out of those problems attempted

Level D, Test 3

(Minuends to 18; Subtrahends to 9; 25 Differences)

12 4 10 9 8
~ 4 ~2 -3 — 4 =
6-5= 9_9 = 0-0-= 14-9 = 6-1=
10 8 13 4 2
-8 -8 ~ 6 — 4 -0
7-2= 12-8= 10-1= 16-7= 15-9 =
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
123 | s
Level D, Test 5
(Minuends to 18; Subtrahends to 9; 25 Differences)
6 / 9 14 10
~2 — 4 -3 -9 ~ 1
9-8= 8-7= 15-8= 6-5= /=5=
11 8 12 13 3
-5 -5 - 6 -5 -2
1-1= /—2= 10-8= 16 -7 = 9-4=
6 9 5 10 8
-3 -9 -0 -9 ~ 4
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/30 To
out of those problems attempted

Level E, Test 2

(Minuends to 18; Subtrahends to 9; 30 Differences)

14 13 5 12 4 10
-8 -9 -5 -9 -0 — 4
15-6= |7-0= |11-5= |6-6= |8-6= |6-1=
14 13 6 10 12 5
~ 6 _ 7 — 4 -3 ~ 7 =
17-9= |4-2= |5-2= |15-9= |6-0= |9-6=
13 14 1 16 15 7
~ 4 -5 -0 -9 -7 .
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

Accuracy:

/30 To
out of those problems attempted

Level E, Test 4

(Minuends to 18; Subtrahends to 9; 30 Differences)

17 4 6 10 12 13
~ 6 -3 ~6 -7 -9 _ 5
7-0= |5-4= |9-3= |8-3= |3-3= |7-3=
17 10 9 6 17 12
-8 ~ 9 -2 -0 - 8 ~ 4
8-7= |2-1= |3-0= |6-2= [9-8= |9-1=
10 13 14 16 10 4

~ 6 - 8 ~ 6 - 8 -2 — 4
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those problems

Accuracy:

3 (¢]
attempted

Level E, Test 6

(Minuends to 18; Subtrahends to 9; 30 Differences)

17 14 17 12 10 13
-8 ~ 6 -7 -5 -9 ~ 8
7-6= |6-5= |4-2= |9-2= |15-7= |5-0-=
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-3 - 8 - 8 -7 ~ 6 -7
2-1=  |9-0= |7-1= |8-4= |3-2= |5-3=
10 8 17 14 12 4
~ 6 ~6 — 4 -7 — 4 -3
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RECORD OF TeST RESULTS

Date of Test Test # Time Score (_/_) Accuracy (%)
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Accuracy (% correct of problems attempted)

Graph Your Accuracy

Dates or Test Numbers
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